BERXFEEIHKER (FR31EI1AZHS)

F S| 24 XHES | €% (M)
31 1 5|l RigFl ERMEHFERRR TS E=g- 5,000
31 1| NMEiIREMEFIFREARERS =& 5,000
31 1| 14| EERIL/NERPTAFESHESTIEDEL =& 6,000
31 1| 16|RARMMRESRIERRS RE 8,000
31 1| 17EEREEHREHFEERS =& 6,000
31 1| 1EEREL>EZEHRESTETHRES =& 3,000
31 1| 19 BEESFHES =& 5,000
31 1| WBEUEREXESHFEERAXES =& 5,000
31 1| 2B ARFERESEXBEREEEZNER =& 6,000

1Aa&E ot 49,000

[(XHX57E] X5 HH ) | 2%

=8 9 49,000

mne 0 0

FH 0 0

e -ETER 0 0

ZDfih 0 0

1A &E ot 49,000




HERXBFEIHINR (ER31F2AZHS)

£ | A| A8 =4 XHXS | £ (M)
31 2 3| & it X FE #h = B uk &R =& 10,000
31 2| VBRHEZERBRESAAKRIEE FH 10,000
31 2| 16| 7AVAUTYRR—IL KEEEEBRHESR =& 5,000
31 2| 16|EHBEZERBRESAAKRIEE TR 10,000
31 2| 26|REBZERBREBECAAZRIHE Fn 10,000
2AN&E 54 45,000

[(XHX55E] X5 B | £%EMA)
=& 2 15,000

mne 0 0

FH 3 30,000

e -ETER 0 0

ZDfih 0 0

2AREEt 514 45,000




HERZBFEIHINR (ER1EFIAZHS)

£ | A| A8 =4 XHXS | £ (M)
31 3 JREBRESARAAZRIHE Fa 10,000
SAR&Et ks 10,000

(X HX5E] X5 B | €%
=& 0 0

FLE 0 0

FH 1 10,000

TEEw- £ TR 0 0

Z D 0 0

SAREEt 144 10,000




BERXEETHKR (EHSIE4AZHS)

£ | A | A8 =4 XHXS | £ (M)
31 4 NMRERBCARAKRIEE Fa 10,000
31 4| 26|AERXVIEHEREESREBRE E=g- 4,000
31 4| 26|RIERRERRBHRS =& 6,000
4R & 3 20,000

[(XH X5 Et] X5 HHE) | 2FEH)
=& 2 10,000

FLE 0 0

E g 1 10,000

TEdm AR 0 0

Z Dt 0 0

4R &5 3 20,000




HERXEFEEXHIRE (SMTE6AXZHS)

A | H =4 XHXS | £ (M)
1 5/ NM|BEEBHER 2E 5,000
1 5| 16|REAGREBESARAKRIHE FH 10,000
1 5| 22|RIREISESSTEHBRRS =& 5,000
1 5| 30|&2il X FERPTARGESEX DS =& 5,000
1 5/ 31|HERI/NERPTAESHRESEEIS o 2000

5AREEt 514 27,000

[(XHX55E] X5 HHE) | 2FEH)
=& 4 17,000

mne 0 0

FH 1 10,000

e -ETER 0 0

ZDfih 0 0
5AREEt 514 27,000




HERXEFEEXHIE (TMTFE6 AXZHS)

A | B =4 XRS5 | £%E(H)
6A N EEt of4 0
[(XHX5%ET] X5 B8 | £%E )
e 1 0 0
HmE 0 0
FH 0 0
TEEg -A£TER 0 0
ZDh 0 0
6A N EEt of4 0




